
@W

5
�1W>>&;7;@

+! "! �������s

��"
�
�����
-��B����
���
�+�������+��
������

�

�����s��-�s�-��
���

��+	'�	
�+�����8�+���	'����	
+'	
��!���	
	+��!���'�����
�	-������	����)�	
	+������%+,	''��+
�' �
	+��	
�%


�%
����+��	60	��!	'�)+�
	+��2	�!��	
���%�+�����	���+
������+��!���'�����
�	
	+��$	���	
���%+'�����+����!

	6g�������%+'�6g���	
+
+6�''�$��0+���+�+!	��$4+��	+	6	'�	
�
���'%+���
��'��)��!�+��������!�+6�''�$�	
	$+�	�-

������+����	�	�	�)8	
���%+�+'	����)�	-9�	�	!���'�	
	+��8
���%�+�	
�%+'��)+!	���+'	'�	%�)+�8+cl�����
+�+�
�0

'�	����+�	��8���+����!�[�'�
�+���	!�����!	
	+�	�0	���

sC+>C>GU=B=+KO+DA<+=AK?D@KNBCJ=+BC+;Q==B>_=+ABJA<?-G<P<G+>INBCB=D?>DBP<-D<??BDK?B>G+IBPB=BKC+?<P<>G<I+>+C<<I+OK?+BD=+?<OK?NBCJ�

s+P>?B>CD+KO+DA<+@KQCD?U_=+>INBCB=D?>DBP<+IBPB=BKC+B=+=QJJ<=D<I4+HAB@A+BNLGB<=+QCBOB@>DBKC+KO+DA<+=QMn<@D=+KO+DA<+q<I<?>DBKC+HBDABC

DA<+ H>D<?=A<I+ M>=BC=+ KO+ ?BP<?=+ >CI+ =<>=4+ HAB@A+ B=+ =QM=D>CDB>D<I+ MU+ DA<+ QCBP<?=>G+ L?BC@BLG<=+ KO+ DA<+ M>=BC+ @KC@<LD+ KO+ C>DQ?<

N>C>J<N<CD+>CI+=K@BK-<@KCKNB@+I<P<GKLN<CD�+\A<+C<H+C<DHK?F+HKQGI+@KC=B=D+KO+cl�F?>B=4+>CI+DHK+@>LBD>G+@BDB<=�+\A<+N<?BD=+KO

DA<+?<@KNN<CI<I+>LL?K>@A+>?<+KQDGBC<I�

��$!���2���!��!<S�$ ����!#%!�3 3"�$�!��X34�3�$ ����� �+��!���� 3�<!����%!%+�=��+[� �2+,
"�2�$!���\��$ �!���3�������23�3$ �� 3��!# ���3 !�3��/�!��$ �+� +��&��+S�$ �+[S�=�$3$ �2��$�3\#
�!2�*�!2!4���,�" !�2�\�� �?!�23�!���3[����!$$33�%!��3��!�?����� 3���-�! �!\��3�,�%�3��! !#
��-�$+<��� ��$ ��3�<���!$ � !"�!�$3�/��,�" !<��! $ �3�� /�$�!3�3� ���$�,�3��2�$ ��$� �2�*��2!#
�3"�!�+�=4����3�<��P 3�3� ���$��$�?������/��23&���$�=43�$�P 32�$�@:::1*&�$ ��3�%���%�3�32� /$=
%��� 3"�$�3��\�*3���342����3[�P !��$3 +�633&

R����2�3-�%�!=����3�2�$ ��!�$!4���3��$�23�?������/��-�!��+*!�&��� �2���"��$=�%�!6�$$�+�#
�+%���3=�$+<��� !���`�%+ �2�!<���3���3=����! !��-��� !�!2��-�!��+*!��$�$!$���323���*3!��#
23 a��!23#R��2=6�!*!,����2��$�!*!,������3�$�!*!,��!�=�$�!*!,�5$ /#�����$�!*!��+�= $�!*!&
�����!��$��P 3�%!%� �3�<��3�32%+�/$3���23,�!%�����=�3$/���!$�!��!2�%!�3 3"�$�323�3� ���$�#
23�3�����3���/�!�%�!<��2+������\��3&���!<-!�32!�%�3�63%3��/�!����\��3����! �!\��33���23#
�3$ �� 3��!����?!�2���$���$ ����,���X���$�3�!�����$ =�� $=������$= 3�� 3=&���%���+[�!"����/
��"/��!�X���3� 3�!<�342����3=-������3=�$ ����������$\�2�+�!���,� &1�&����$+<��� �&

� ����?!�2�,�<�4+$�!��!,��!�X���!%3�� /$=������+"������4��<! �3&��-���2��!,�%!=�3�3$/�3
2!�!*��?33��>U;�,����*!�!�=�+X�!�2�!X�$ ���2� ��3��!��������3��� ���� �&������!� �!�3=��!%�!#
$����4��<! �������!$ � !"�!&��%�����������%��32+S�$ ���4��$/�2!X� �32� /�$!63��/�!#P�!�!23#
"�$��=�*�!*��?3=,� �������!%3��� $=����<!*� ���!%� �3$$���!���3��.�� !2�"3$������!�3�!���3=0
 ���3 !�3��/�!��!�*��34�633�!<S�$ ��&���$�=43�$�P 32���23�%�����*�� $=�!�3��34����3�� !����23#
�3$ �� 3��!# ���3 !�3��/�!*!������3=�.	�
0��!$$33�a����!$�!���<�$$���!�!���!�6�%633&

��-��"��������������������
�
�
���+����
��
��
;"����
<

��2�!*!"3$�����-�342����3=-�	�
��!$$33�%+<�3�!���!$/���!��!��� �!��9,�Q�,��� !2�"3$����
+"�<�3��-��8�&�����+� �! 2� 3 /,�" !�!�3��34���3<!����$ �<3�/��-�%��3!�!�,��!*������!�3�!���3�

%!" 3����2��=�!$/,�>W8QU>WW>1**&���$����3���>WY:#-1**&�����`�����$"3 ����!$/�];���+%��-���23�3#
$ �� 3��!# ���3 !�3��/��-���3�36��%���!*!�+�!��=�3�>8��-!�=S3-����3-���*3!�!��� !�!*!&��!�#
$ 3 +63���$ �����>WW;1*&���$ � +$��$+<��� !���`�4����%���!�\�$ /������,�9W1!<��$ ��,�@>1��$%+<�3#
��,� !���� �� !�!2��=�!<��$ /,� >:� �� !�!2��-�!��+*!�,� ���� *!�!���?������/�!*!� 4��"��3=�a��$�*!
YW1!<��4!���3�,�$+S�$ ����!���4�3"�[S3-$=�%!�2�!*32�%���2� ��2�3�%���!�!2+�%!�!X��3[&

>&1R�!S��/���3<!�/\�*!�$+<��� ���`�<!����"�2���;:::1��4�%����\�� � ��!�+[���32��/\�*!,

" !���2�!*!�%����\�� ���42�-� ���3 !�3��/��-���4�3"3��<!�/\3�$ �����+*3-�?����� 3���-�*!$+#
���$ �� %���� �,� ��!2�����33�3���	� �8�&��!P??363�� � ���3�633�  ���3 !�3�� $+<��� !���!$$33
>],],�" !���2�!*!���\�,�"�2�+���+*3-�$ ���7�+�<�3X��\���a���	�a�!��Y,8,��,���%�32��,�+�<�34�!�
����2�%!�*�!*��?3"�$�!2+�%!�!X��3[,�%�3�!���2�+$�!�3=2�3�%�!$ ���$ �����2�%���2� ��2�����#
���a�;,]&

r���������)�()* +! "!



;:

@&1�S��<!�/\���4��"��3��32�[ ���4�3"3=�����$����33�$+<��� !�,�2��$32��/������42�-��! !��-
���`�9;;,�" !���2�!*!�%����\�� �P ! �%���2� ����<!�/\3�$ �����+*3-�?�����63�,�!%= /# ��3���!2�
���33&�R!��!P??363�� +� ���3�633���$����3=� $+<��� !�� .Y,Q0��!$$3=� +$ +%�� �  !�/�!�	�*�� 3��
.>:,@0&�
!<��32,�" !�$����==�"3$����!$ /���$����3=���\�*!�$+<��� ��>,812��1"��&�a�<!����"�2�� �!�
2��/\�,���%�32��,����43�33,����2��33�3�3���	&

;&1�"��/����3�3�P�!�!23"�$�3���!� ��$ �&����3"3������!�!*!���*3!���/�!*!�%�!�+� ��.��R0
����+\+���$����3=��!�2�!*3-�$+<��� �-���4�3"�[ $=����%!�=�!�&��!�/\3�$ �!��!$$3�$�3-���23�3#
$ �� 3���-���*3!�!�,�!$!<���!����!%��$�!��"�$ 3�$ ����,��3\������� !�/�!���$+�$!����=�$�2!$ !#
= ��/�!*!���4�3 3=,��!�?�� 3"�$�3�3�%�!34�!�$ ����!��$%�63��34�633,���4��"3 ,�3�P�!�!23"�$�3-
%��$%�� 3�&�����4+�/ � ��!�3�=��=[ $=��! �63!���23,�3� !�/�!�%!� !�����$= ���$+<��� !��� =�+ �
�$[�P�!�!23�+�$ ����&

9&1�$!<!�4��"3 ��/����%�!<��2��a�3�P�!�!23"�$�3�,�3�%���!����a�$�=4����$�;@���63!���/��#
23�$+<��� �23�.�!���"�����%!*�!S��3=��!��+*!�0&��$��!�3,�4��3$��["��3�2��� ��$ ���,���\�!� !$#
 ����3�)�+ 33,�! �3"�[ $=��34�323�4��"��3=23���R,��!�%!��!�$ 3 +633�32�[ ��������.��?�� 3#
"�$�3� <!��/\3��0� %����� $� !$ ��/��23� $+<��� �23&� � 3� $+<��� �� 32�[ � %��32+S�$ �!�  ��X�� �
$+<���63=-,� �2!X����-�%!\�3��-,����!*�-,�3�P !�%�3� !2,�" !��3\/���$�23�$+<��� �-��!�=� 3 +�/#
�!����633�%����\�� �Q:1��%�!X3��[S�*!����3-���$����3=&

Q&1���/4=�%�34�� /�!% 32��/��2�	
���!$$33�3�$�%!4363�� �!�33�+%������3=,������!2� ��!*!
�!�3"�$ ���$+<��� !��+%������3=���$\�*!�+�!��=��� ��3*�����23��&���3X���$�-�����2���P !2�$2�$��
��	�.Q:1\ � !��3�?������/����!��+*0,��!�������4� �2�4���"���!� �!�3�!���3=���*3!�!��34�6�� ����
! �3"3��! ��!$$33��!!<S�����$ !3 &�����+*3-�X��*!$+���$ ��-�"3$�!�"���!��?�����633��S��2��/\�7
�����33�a�@Q�.%�[$�\�$ /� ���3 !�3��3�?������/����!��+*0,������$3���a�;>,����3*��33�a�;:,��
����6��33�a�@8,������43�33�a�@Q�.3�?������/����!��+*0,���	�*�� 3���a�@;,������2��33�a�>8��8�&

����+� �! 2� 3 /,�" !����!��-�$!63��/�!#P�!�!23"�$�3-�+$�!�3=-��!�����2�!<��4!2�342��3#
��$/�! �� $ ����!$ /���23�3$ �� 3���-�!<��4!���3��4��!<�$%�"��3��*���� 3�!����!*!�+�!��=�3���#
"�$ ���X34�3���$����3=&�����%!�"����+���&1�&1� +�/<��*,�����+$�!�3=-����!"��-�%�3�63%!��?+��#
63!�3�!���3=�P�!�!23�3�3�4��"3 ��/�!��%!�3 3"�$�!��3�?3���$!�!#<[�X� �!��$�2!$ != ��/�!$ 3
��*3!�!���������3��$+<��� !��?�����633�����!�X�!�%�!3$-!�3 /�<�4�+"� ��3-�P�!�!23"�$�3-��!4#
2!X�!$ ��,� ���������%�! 3��!2�$�+"���!�3����$2!*+ ���%!��= /�$�!3��!�$ 3 +63!�����!<=4���!$#
 3�%!�! �!\��3[���$�!�2+���$����3[���9,�t&1]�&

���32�!<��4!2,�$�*!��=�$3$ �2��	�
�$ ��������$!! �� $ �+� ��3�%!�3 3"�$�32,��3�P�!�!23#
"�$�32,��3�+%������"�$�32� ��<!���3=2&��!�!�+%�!$ /���*+2�� !����$ !�/�!�4��"3 ��/��,�" !���!#
����$�2�=$�!�a�	�
����!�2��= /&��!�P !���3�$ �����=�%���%!$����,�����! !�!��$-!�3 $=�<!�/\3�#
$ �!�4��32�[S3-$=�P !��%�!<��2!��.3�3,��!��$=�!2�$�+"��,�32�[S3-�4��$/�$�!��2���3�0�%!�3 3�!�
3�+"���-��������3-�%!�-!���$+S�$ ����!,���%!�!������3���/�!,���$-!�= $=&��-�2!X�!�!<���3�3 /��
 �3���%������3=,�+$�!��!���4���������23�%!�3 3"�$�32,�P�!�!23"�$�32�3�*�!*��?3"�$�32&

R!�3 !�!*3�3�!$!<���!�%!�3 3�3�����[ ���6�� ������!<-!�32!$ /�+��+%���3=�$+<��� !��$�6�#
�/[�!% 32��/�!*!�+%������3=,��� ��X�������X�!$ /��3��3��633�?�� 3"�$�!���$322� �33�$���63!#
���/��23� !<��4!���3=23�� ! 2�"�� $=�  ��X�� ��*+2�� � �!�$!�3��633� �!��+*� P�!�!23"�$�3� �$3�/#
��-����*3!�!�&�R�3"�2���3<!������ 3����*+<���� !���32���!� ��3-���*3!�!�,�%!P !2+�%�3�!�= $=
$!!<��X��3=,���%�32��,�!�6���$!!<��4�!$ 3�!<���3���3=�)�!$���$�!�,��!$ �!2$�!�,�����!�$�!�
!<��$ ���.	&1�3$36��0,���2��!�$�!��3��!�!$3<3�$�!��!<��$ ��,�	� ��$�!*!����=�3���$%+<�3�3�	�#
 ���.	&1�+����0,�������!�$�!�,�
��=<3�$�!�,��+�*��$�!��!<��$ ���.�&1�!$$��/0&��4�+"3���3$/�%���#
�!X��3=� !<� !<���3���33��!�!*!�$�!�,� ����$�!�� 3�	�-��*��/$�!�� !<��$ �����3%�6�!�,��+�$�!�,
�!�!��X$�!��3���2<!�$�!��3���X�����3�3�*���$�!�,��!�*!�!�$�!��3�R$�!�$�!�&��!��"�!,���$��#
4����3$/�3��3�3�!��!����!2�$!���S��33��!�3"�$ ���$+<��� !���`,���%�32����!�9:,��!�<�4�!$!<�-
!<!$�!���3�,�%�!$ !�%! !2+,�����$��4���$%3�����!�� ��`�����633��&1�3�!�!�,�" !�$!�!����+%���#
�= /���*"�,�"�2�YW#[&

�<$+X���3��P 3-�3����\�!��!���23,��%3�3���! !��-�!%�����=�3$/�%!�3 3"�$�323�$!<� 3=23,
��%�32��,���<!��23�3�3�%�!$ !�!"������23���$��4����3=23�%��43��� �&������!��%!*�=�!�!��!#
$ 3*��!�%�������?�����+2�23�!<�!<���3���33�!<��$ ���3�������$�!��+*�23,� &1�&��!*���$ �� �%�!6�$#
$+�342����3=�	�
�� !"�"��2��2� !�!2�.?�� 3"�$�3�%�!$ !���\��3�2���$\������$ 30�<���+X�����&

���"3 ��/�!�<!����!<!$�!�����23���*�=�= ���4��<! �3�P�!�!23$ !�&��!<$ ����!�*!�!�=,�3��
�%!*�!S��33��!��+*!��4�32!�%�!$2� �3��� $=�P�!�!23"�$��=�3��=7�4�"�2��!�23 /��$��<������*3!#
��,�%+$ /�$!$��3�%!$ ���[ $=�3�$�32+ �!<+4+�$�*!$+���$ ��&��$ /�3�P�!�!23"�$�3���%�=�3��,�%!#
$�!�/�+����%�!6�$$�!<���3���3=�!<�S������2�����$���$ ��&�_! =�3�P !�����$�*���$��<� ���� ,�!$!#
<���!��!*���!"��/�$3�/���3� ���$����63!���/�!��P�3 �,�%!� ���X���3�2�"�2+�$�+X3 �-!��!<$+X���3=
�!42!X�!$ 3�$�3=�3=����$�!���$�!*!����=�3�	��*�3&



;>

��<! ��%!�P�!�!23"�$�!2+�!<!$�!���3[�	�
���"��3$/��S����$����3���>WW:#-1**&,��!*�����R�

!$+S�$ �3��63����!2%���$��-�3$$���!���3��%!�P�!�!23"�$�32�3�%���!��2�!$�!��2�?+��63!�3�!#
���3=�3�2!����34�633�*!$+���$ ����!# ���3 !�3��/�!*!�+$ �!�$ ����!$$33&���!$�!��� �!�� 3"�$�!�

�!�6�%633�%�3�P !2���X3 �%�3�63%�2��$32��/�!��!42!X�!*!�$<�3X��3=�P�!�!23"�$�!*!����!�3#
�!���3=�3�	�
���$\�*!�+�!��=&�����4+�/ � ��<���%!�*! !�����%�!�� ���+-P �%�!����23�3$ �� 3�#

�!# ���3 !�3��/�!����?!�2��$�!<��4!���3�2�?������/��-�!��+*!��3���+%��-�+�3?363�!�����-

��23�3$ �� 3��!#P�!�!23"�$�3-���*3!�!��a�$+<��� !��`�����633&���>WWY1*&�!��%!�+"3��%!����X�+
	�23�3$ ��633�%��43��� ���`,�3��$�!����*!�%������P �%�<���!$+S�$ �����a���2���@:::1*&���4��"�#

���%!��!2!"����%���$ ��3 ��3�*�����*!$+���$ �����$�23�?������/��-�!��+*�-&
�+ /�%����!X��3=���R���34�!X������2!�!*��?33��@�,�*����%������$�������%!%� ���$3$ �2�!*!

3$$���!���3=�P�!�!23"�$�3-�3�%���!��-�!$�!���!����!*!�$!���\��$ �!���3=�*!$+���$ ����!# ���3#

 !�3��/�!*!�+$ �!�$ ����!$$33,��� ��X����2�!*!"3$�����-���$ +%���3=-�3�%+<�3��63=-������ !�!� a
	&1�&1����<��*�,��&1�&1�3$ ��!��,�	&1	&1	��2�$�+,��&1�&1� +�/<��*��3���&�R����!X����3��!���� ��=

$ �+� +���$� 3�	�
����3���$!�!�+%�!$ 3�@Y1*+<���3��3���+-�*!�!�!��?������/�!*!�4��"��3=,�%�3"�2
*���36��*+<���3��%�3<�3X������*���36�2������=�2�-���R�!2�>Y��!��-�P�!�!23"�$�3-����!�!�&

	� !���$"3 �[ ,�" !�%���$2! �� ���3 !�3��/�!*!������3=���$ �!S+ 32���P�!�!23"�$�3�,�$!#
63��/���,�P�!�!*3"�$�3��3�!�*��34�63!�����P??�� ,�%!$�!�/�+�!<��4+[ $=�2�$\ �<���,�2�!*!��#

$+�$�������!��!-!4=�$ ��������!2%���$��3���*3!���/��������3,�%!=�= $=��+"\3���!42!X�!$ 3

��=� $�2!?3���$3�!���3=�  ���3 !�3��� %!������X��2��!� �!��2� !$ ��+ $=�%�3�!�!%!�/4!���3��3
$!63��/��=�4�S3S���!$ /��[����������= $=�P??�� 3�����?!�2����2!��� 3"�$�!*!�$�2!+%�����#

�3=��"� �!���4*���3"� $=�?+��633�?������/�!*!�6�� ��,���*3!�!��3�2�$ ��-�!<��4!���3��%!���*+#
�3�!���3[�%�!34�!�$ ���3��������!<�$%�"� $=�-!�!\�=�+%����=�2!$ /,�!<4!����\�$ !=S323�4���/#

=23�+%������3=��3X�$ !=S3-�3�<+�� ��!$ 3*�+ ����2���=�P�!�!23=�!�*��34�63!���-���$-!�!�&


�+*3��%����!X��3=�P�!�!23$ !�,���%�32��,��������3����+%���\3-���3�36�	�
�a�%!�>>�3�3
Y�P�!�!23"�$�3-����!�!�,���!$�!��!2�%!� !�=[ �%����!X��3=���R��,��!�=��=[ $=�2�������*+2��#

 3�!�����23&
���"3 ��/�!�<!�/\3����4<�!$�2���3��%!�P !��%�!<��2��-���� �������=�*�!*��?!�&��!�/\3�#

$ �!�34��3-� ��X��%!����X3��� �P�!�!23"�$�3��!$�!���3=�<+�+S�*!�	�
,��!�%�3�P !2�*!��4�!�<!�/#
\�����32��3��+���=� $=���+*32��$%�� �2,�!$!<���!���63!���/�!#P �3"�$�!2+&����,�R&1)&1������!�

$"3 �� ,�" !���$�+"�����23�3$ �� 3��!*!�3�%!�3 3"�$�!*!�!?!�2���3=���63!���/�!*!����!����$�*��

4��������� $=���63!���/�!���������$ �!,�%+$ /���X��3���$��� �-�?!�2�-��]�&�R!�2���3[�Z&1R&1�3#
-���!��,��!<=4� ��/��2�+$�!�3�2�!<�$%�"��3=�+$ !�"3�!$ 3�	�
��!�X���$ � /�+�3?3��63=��$�-�<�4

3$��["��3=�%����$+<��� !��`�����633�%�3�$!���S��33�3-�"3$���%�32���!����!����Y,�t&1Y�&�	���34
?����� 3��!*!�+$ �!�$ ������2��33,�����6��33,���	�%!��4�����X�!$ /�+"� ��%�3���23�3$ �� 3�#

�!2������33���*3!���/�!*!�$�2!$!4���3=���$����3=,�!����!����!$$33�32�[ $=�$�!3�!$!<���!$ 3 �W�&

��!*��?�23� ��4��<! ����3� �!���� ����%����!X��3=�%!��!�!�� $� 3�	�
&����,��&1�&1�+*���� �
6��!2�$!*��\�� $=�$�%�����*��2!����R�!2��!�6�%63���2���!��*3!���/�!*!������3=�3�+$ �!�$ ��

$ ����,� &1�&�$�P�!�!23"�$�!��!$�!�!���!�!*!�	�
��>:�&��� !�X�����2=�!��%�����*�� �$�![�$3$ �2+
34� @;1��*3!�!��a� >9� �?����� 3��!*!��  3%�� 3� W� ��!�?����� 3��!*!�,� ���["�[S3-� >Y1��$%+<�3�� $

��<!�/\32���$+�$��2�%! ��63��!2&��&1�&1�!2��!�� ��X�����!2���+� �$!4���� /�	�
�%��X����$�*!
���!$�!���P�!�!23"�$�!*!����!�3�!���3=,�!%3��=$/�����!�+[�$ �+� +�+�$�23�?������/��-�!��+*!�,

�! !�������= $=����981*+<���3���>>�&�R�3"�2�!�,�!�3��34���2�!*3-,��%!�+\�� $=�����$+S�$ �+[S3�

*���36��$+<��� !��.342����3=������= 3�$�+"�=-0&
���!�34�������3-�%����!X��3��%!���?!�23�!���3[�	�
����2���!+�!����%�3�����X3 ��&1�&1�\#

2+�� !�+��>@�,��! !�������!�!��$� 3�	�
������=� �>91$+<��� !�,���4�����-���!�?�����63=23�&���3#
*3���/�!� �*!� %����!X��3�� !� $!4���33� !$!<!*!�������!*!� $+<��� �,� !<���3�=[S�*!� $!���2�����

��$%+<�3�3�3�!��+*��$�$������23����!��23&��$ ��/����X��$+<��� ��!"��/�%!-!X3���� ���363!����

P�!�!23"�$�3�����!��&
�!���\���!�!$!<�2�%���$ ���=� $=�%!�-!������$$2� �3���2!��%�!<��2��!��!*!�34����+S3-�! �#

"�$ �����-�$%�63��3$ !��%!�?����� 3���2�! �!\��3=2�3���*3!���/�!��%!�3 3����&1�&1�23��=*3#
����>,�>;�&��!#%����-,�!%3��=$/����34��$ �+[�+$�!��!$ /���23�3$ �� 3���-�*���36���	,�!��$��%#

 3"�$�3�! �!$3 $=���%����!X��3=2�%���$ �!3 /�	�
�$�6��/[���\��3=� !�/�!�-!4=�$ �����-�4���",
 &1�&���$!*��$33�$�P�!�!23"�$�32����!�3�!���3�2&��!#� !��-,�!��%!�"���3��� � ��+[�$%�63?3"�$#

�+[�"�� +��!$$3�$�!*!�$�2!$!4���3=,������$%� 3��/�!$ /�a�%!�3X���+[�����63[����*�!*��?3"�$#

�!��%�!$ ���$ �!,�" !�!<=4� ��/�!�$���+� �+"3 ��� /�%�3��[<�-���?!�2�-�	�
&����!��6,�!���!!<#
S�����$"3 �� ���?!�23�!���3��	�
���$+S�!��%�!<��2!��.��!2���!%�!$!��$����! !��23��� !�!2��23

!��+*�230�3��3�3 �<!����!$ ��23���+*3��%�!<��2����*3!���/�!*!���4�3 3=&



;@

�S� ��/��������34�<!*� !*!�23�!�!*!�!%� ����?!�23�!���3=�	�
�%!4�!�3���&1	&1�!�!$!�+�3
�&1�&1�3�!����!�$?!�2+�3�!�� /�!$�!�����%�3�63%����23�3$ �� 3��!*!����!�3�!���3=��8�,�$��!#
 !��23�2��%!��!$ /[�$!*��$��&���� �!�3-�2!X�!�%���$ ��3 /�$���+[S32�!<��4!2&

>&1��3�36��	�
��!�X���<� /�$2�X��23&
@&1��3�36��	�
��!�X���<� /��!2%�� ��23&
;&1����36���!��-�	�
�%!��!42!X�!$ 3�����!�X������+\� /�+X��$�!X3�\3-$=�*���36&
9&1����36��	�
��!�X���<� /�2��$32��/�!��$ �$ �����23&
Q&1��3�36��	�
��!�X���<� /��!$ � !"�!��2!S��23�,�X��� ��/�!�a�P�!�!23"�$�3�$�2!�!$ �#

 !"��23&
8&1	�
��!�X�!�<� /�3�! �!$3 ��/�!�$ �<3�/��2,�3�! �!$3 ��/�!��3��23"��2,���%�32��,�$��#

�+� �+"3 ��� /�!$!<���!$ 3��!�!*!�!$�!��3=&
� 3� %�3�63%�� +" ���� 3� �� %�����*��2!2� ���3�� �� 	�
� �!$$33,� !$�!����!2� ��� <�$$���!�!�

�!�6�%633&

������-��
��
�
"����
�������s��-����
��t����
�
���	��"
��-��

����

��! �!\��33�<�$$�����.��"�!*!,�!4���!*!,�2!�$�!*!0���23�%���%�3�= �$3� �4�%!4363��%���$ �#
�3 ������$ �$ ����!#��+"��-,�*+2��3 ����-,� �-�3"�$�3-��3$63%�3�,�" !���\�!�! ��X��3����%���#
$ �����33�<�$$���������3� �*���/�!��%�3�!��!#-!4=�$ ����!��$3$ �2��.�3$&1>0��>9U>8�&�	���34�2�X#
�+���!��!*!� 3� �!$$3�$�!*!� !%� �,� ��  ��X�� 2�!*!�� �3�� $!<$ ������� 3$$���!���3=� %!4�!�3�3
$?!�2+�3�!�� /���$= /�+�3���$��/��-�%�3�63%!�,���X�S3-���!$�!���<�$$���!�!*!�+%������3=�%�3#
�!�!%!�/4!���3�2�3�$!63��/�!#P�!�!23"�$�32���4�3 3�2���6��!2&

>&1��$$����a�!$!<���%�3�!�����!<��� �a�%�3�!���=�*�!$3$ �2����$!�!��$ �%��3�6��!$ �!$ 3,
$!"� �[S�=��<3!*���+[�!$�!�+�.�3 !!�!*3��!$3$ �2+0�$!�$%�63?3"�$�323��=��23�?+��63!�3�!��#
�3=�<3! �&

@&1��$$����a����43�3<���� 3"�$��=,�$�2!��*+�3�+[S�=$=,�%����3��23"�$��=�3�%���*��� 3"�$#
��=�$3$ �2�&�� !���3<!����%!�-!�=S3��!<��� ���=��$�$ !�!���*!�%�32����3=�$3$ �2�!*!�%!�-!��&

;&1��$$�����+�3���$��/����P !�$�2�����$%�!$ ������������%!���-�!$ 3�$+\3�%�3�!������!2%#
���$���%!" 3��$=�$+\��%���$ ���=� �$!<!��3-�$!�!�+%�!$ /&���3�3*��[ �!$!<+[�*�!P�!�!*3"�$�+[
�!�/���$ �+� +���<3!$?���&

9&1��$$����� $� *���36�23#�!�!��4����23�"� �!� �����=[ $=����2�$ �!$ 3�3���� ��� �,� %!P !2+
%���$ ���=[ �$!<!����3<!����!<��� 3��+[��$ �$ ����+[�!$�!�+���\��3=��[<�-�%�!<��2,�%��X��
�$�*!���$?����%�3�!�!%!�/4!���3=,��� ��X��3���+*3-&

Q&1��*���36�-�<�$$������4�2���[ $=��!$�!�����63������+*!�!�! !����S�$ ���3�P���*33&��!�#
����!<��� ���!�!$<!���a��!��"����4���/=��6�%!"����4�*�=4���3=&���$�=43�$�P 32��!�/�<�$$���!�!�
�!�6�%633�%�3�3$$���!���3=-�*�!P�!�!*3"�$�3-�%�!6�$$!��<3!$?������$!2�����&

8&1�3��!*��?3"�$��=�3��!�!��4���/��=�$� 3�<�$$�����a�$�2���$ �!*!�3����-3"�$�3�+%!�=�!"��#
�������%���� �����P !2���["���$3$ �2� 34�633���$�2�-���4��-�!<��$ =-&

]&1���!���23�!<��� �23� �$�!�$�=4�����$=�3$ !�3=�63�3�34�633����<�$$����-�$?!�23�!���3$/
!$!<���P �!��2!*��?3"�$�3��!<S�!$ 3&

Y&1�����!���-��3�3=-���!�6�� �3�+[ $=�%!$����3=�3�%�!2�\�������!<��� �,���$�=43�$�"�2
<�$$�����2!X�!���$$2� �3�� /�����$%�63?3"�$�3��P�!�!23"�$�3��%�!$ ���$ �������$ �+� +��&

W&1��%��3!������$ ��3=�2�X*!$+���$ ����!����%�=X���!$ 3�<�$$�����a���3<!����%!�-!�=S3�,
$!4�������$�2!��%�3�!�!��%�!$ ���$ �������!<��� ����=���4��\��3=� *�!%!�3 3"�$�3-�%�! 3�!#

��"3�,����������63!���/�!2,� ���3����2�X�+��#
�!��!2�+�!��=-&

>:&1�!�/� <�$$���!�!*!� %!�-!��� %!$ !=��!
+���3"3��� $=��$���$ �3���!4��$ ��3=�4��"��3=
�!��!*!� ?�� !��� 3� �!���-� ��$+�$!�� .!$!<���!
%3 /��!���!��0���%�3�!�!%!�/4!���33�%���� �&

���32�!<��4!2,���23�%!��4��!,�" !�<�$$���
����!$!<���%�!$ ���$ �������!<��� �<3!$?���

,�'��a�1��!�� 3"�$�3��!$�!���<�$$���!�!���!�#
6�%633���%�3�!�!%!�/4!���33&



;;

��$/2��%��$%�� 3������� !�/�!���=���4�!$ !�!���*!�34+"��3=�%�3�!���3�P�!�!23�3,��!�3���=�+%#

������3=�!��+X�[S���$���!�,�%!�32��2!����$�2!2�\3�!�!2�$2�$��&�5"3 ���=,�" !�32���!�!% 3#
2��/�!��+%������3��a���X���\�=�4���"���[<!*!�	�
,�%�32����3��4��$/�<�$$���!�!*!�%!�-!�����#

*�=�3 ��%!����%�3����� ��/��2&
����+� �! 2� 3 /�������X��-�!<$ != ��/$ ��&���+%����2�X$+<��� ����<�$$������!$$33�a�!$!#

<���*�!%!�3 3"�$�3��!<��4!���3=&��-���4�3"����"�$ 3�$!��3�����P���*� 3"�$�323,���S�$ �����#

23,�3�?!�2�63!���23�%! !��23,��!�!��!���2���!���4�������*���36�23���*3!�!��$���4��2�+�!�#
��2�P�!�!23�3�3��+�/ +��,�%�3"�2�P 3�*���36��"�$ !����$!�%���[ �$�%�3�!���23��+<�X�23&����!�

%!�!X��3��"���� !��!42!X�!$ /[��!4�3��!���3=��!�?�3� !�,�%!P !2+���=��-!�=S3-��� ��3��<�$#
$�������*3!�!�����������X���%+ /��$�$ !�!���*!�$! �+��3"�$ ��&�R!3$�� ��!*!�%+ 3�4��!�!2���!

$�=4��� /�$�<�$$���!�!���!�6�%63��&

��X�����$%�� �P !���!�6�%633�a��$ �$ �����=�3����-3"�!$ /���"��-�$� ��&���23���4��<! ���
3-����$$3?3��63=�%!����3"3��,�!$�!�����=����%!�=��!�!2���*!�3 2�� .�3$-!�=S���<!�3 3�!���0

�&1_!� !��U	&1� ������,�$��������3�2�%= 3����$$!��.!"��/�2����,�2����,�$����3�,�<!�/\3��3���+%#
���\3�����30����= 3�%!�=��!��.VUVT0&���X�!2+����$$+�3�%!�=��+�$!! �� $ �+� �$�!���3�%�4!��*3��!#

*��?3"�$�3-�3�*3��!�!*3"�$�3-�-���� ��3$ 3�&���$!! �� $ �33�$�P 32�%!�*��?�2���"�!��$� 3�%�!��#
��������$$3?3��63=���"��-�$3$ �2��3<3�3��>]�&

	�23�3$ �� 3�����*���36����$!�!�+%�!$ 3�!<��4+[ ��!�23�!�������%�!$ ���$ �������$� 3,

%�!34�!�����$!63��/�!#P�!�!23"�$�3-�%�!6�$$!���3??����63�633� ���3 !�33&���! �3"3��! ���#
�!�23�!�����-� �$ �$ ����!#*�!*��?3"�$�3-� $� ��,� ��  !2�"3$���3����-3"�$�3-���"��-�3� �!�!��4#

���/��-,���23�3$ �� 3�����$� 3�$�*!��=���4��"3 ��/�!��$ �%��3�$+<��� 3����3�4��3$= �! �3$ !�3#
"�$�3-,�P �!*��?3"�$�3-�3���X��P 3"�$�3-�!<$ != ��/$ ���Q�&���\��! 2�"��!$/,���$�!�/�!�$��<!�%�3

P !2�+"3 ���[ $=�%!�3 3"�$�3��3�P�!�!23"�$�3������33���$ !=S�*!����2��3&���2��"3�!���=���#

?!�23�!���3=�	�
�3$%!�/4!�� /�4��!�!2���!$ 3�$ �!��3=�3�?+��63!�3�!���3=��$ �$ �����-�$�#
 ���."� ��� ���%�3�63%�%!��!�!$!�+U�3�!����!�0&

�!42!X�!$ 3�3� �*��633���23�3$ �� 3���-�3�<�$$���!��-� $� �����=�	43� $�!���!$$33� . �3
"� ��� 3� ���3 !�33�$ ����0�3$$���!�������23�$%�63��/�!��>Y,�>W�&���$$"3 ����<�$$���!��=�$ �+�#

 +�����23�3$ �� 3���-�!<��4!���3����$\�*!����*�&��!�/\�=�"�$ /�*���36���23�3$ �� 3���-���*3#
!�!��.!�!�!�8Q1�0�%�!-!�3 �%!��!�!��4����2�<�$$���!����"��-�$3$ �2�dUdVVV1%!�=��!�,�!�!�!�>Q1�
$!�%���� �$���"�!��$� /[�3� !�/�!�!�!�!�@:1��*���36����$�=4��!�$�!�!*3��!*��?3"�$�323�P��2�� �#
23&�R�3"�2����=���$3<3�$�3-�!<��$ ���$!�%����3��*���36�$��!�!��4����23��!$ 3*�� �Y:UW:1�&�R!"#
 3� ����  �� 3� %�!S��3� �!$ !"��-� ��*3!�!�� �!$$33� ! �!$3 $=� �� <�$$����2� ���3�3-� �43� $�3-� ���
VT1%!�=����a��<3,���3$�=,������3�	2+��&���$$�����<3���$%�����=� $=�2�X�+�>91$+<��� �23��`,

��3$�=�a�W,������a�Y,���	2+���a�2�X�+�Q,�%�3"�2��$��!�3,���!2������,��-!�= ��S��3���$!$���3�
*!$+���$ ���a���4�-$ ��,��!�*!�3[�3����&

���32�!<��4!2,��4�32!$�=43���23�3$ �� 3���-�3�<�$$���!��-�$ �+� +��%!� !%!�!*3"�$�32�! #
�!\��3=2�3����-3"�!$ 3,�*���3"�!$ 3,� ���43 �!$ 3,��!2%!�!��3�%�!S�������=�	43� $�!���!$$33
��$/2��$+S�$ �����&�� !�!<�=$�=� $=�%��X����$�*!� �2,�" !�4�$����3���!$ !"��-����!�!��3�3-�-!#
4=�$ ����!��!$�!��3��\�3�!<�"�!�%!�����2,�����4+�/ � ����*���36�-�<�$$���!��"�S���$�*!�3��!4�3#

���3�6��!$ ����-!4=�$ �������3�P �!��2!*��?3"�$�3��!<S�!$ 3�$���3��23� ���363=23���$+�$!#
%!�/4!���3=&� �� ���!%��$�!�� �!$$33� $3 +�63=� ��$�!�/�!� 3��=,� �!� 3�  �2� <�$$���!���� $ �+� +��
!$�!���-� ��"��-� <�$$���!��a� �!�X$�!*!,� �!�$�!*!,� ���%�!�$�!*!� 3� ��+*3-,� ��  ��X�� 2!�$�3-�a
��$%3�$�!*!,���� 3�$�!*!,�
���!*!,�$������-�2!����a��%!����!%��������&

����4�32!$�=43���23�3$ �� 3��!��3�<�$$���!�!��$ �+� +��!<��S��3���32��3��2�!*3��*�!*��#
?�&����,��&1�&1���4��!�3",���$$2� �3��=��$%!������%�!S��3�	�
��!$$33,�%3$��7����$�+X3��� �<� /

! 2�"����2� !�!<$ != ��/$ �!,�" !�4��"3 ��/��=��!�=�*���36�%�!-!�3 �%!����-!�/=2�%�3 !�!��� !#
�!*!�3� �� /�*!�%!�=������+%��-����&���2�����+%�������3�!<�"�!�4��32�[ �6�� ���/�!��3�3�!�!#
�!6�� ���/�!��%!�!X��3����$+<��� �-�?�����633&���!*���*���36����$%+<�3�,�������3�!<��$ ���3�+ 
%�=2!�%!���"��2��!�!��4����2���@:,�t&1];�&

�����s��-�s�-��
������	��"
��-��
����������



���!$�!���33�34�!X���!*!�%�����*�� $=�%�!��$ 3���23�3$ �� 3��!# ���3 !�3��/�!��%���+$ #
�!�$ �!�$ ����,�3$-!�=�34�$���+[S3-�%�3�63%!�&

>&1����36��<+�+S3-�$+<��� !���!�X���%�!-!�3 /�%��32+S�$ ����!�%!��!�!��4����2���+%��-
��"��-,�!4����-�3�2!�$�3-�<�$$���!�&



;9

,�'��c�1R�����*��2!����23�3$ �� 3��!# ���3 !�3��/�!�������3���!$$33����!$�!��
<�$$���!�!���!�6�%633&

>U@Q�a�$+<��� ���`�.$2&� �<�&1>�3�@0&

@&1�+S�$ �+[S3��$+<��� ��$�3��[ $=�%�3�$!-�����33� ���363!���-�4��!�!2���!$ ������!�3#

�!���3=,�%��X����$�*!�%�!$ ���$ ����!*!�3�$!63��/�!#P�!�!23"�$�!*!���3�$ ��&
;&1��!<-!�32�2�+$�!�3�2��!�X���<� /�P�!�!23"�$��=�$�2!�!$ � !"�!$ /���*3!��&

9&1R!$�!�/�+�!����34�!$�!���-�6�����a�+��+%���3����*3!�!�,���!<-!�32!�$!��� 3 /��!�3"�#
$ �!�<+�+S3-�$+<��� !��%�32���!��"� ���!,� &1�&�!$ ��3 /�@@U@8&

Q&1�+<��� ���!�X���<� /�%�32���!�����!���3�3�%!�%�!S��3�.>::UQ::1 �$&1�2@������!%��$�!�

"�$ 3�3�>:::U9:::����$������3��!$ !��0�3�%!�"3$����!$ 3���$����3=�.;U>:12��1"��&0&
8&1��63!���/����!<��4!���3=��!�X����-!�3 /���$+<��� �����%����-�%��X����$�*!��+�/ +��!�,

�!,��!42!X�!,�3�!%��������!��%!�3 3"�$�!���� !�!233&
]&1
�=�$+<��� !��.��!2����+-�$ !�360�6���$!!<��4�!���4���3���������$��!<�����3�2���32��!��#

�3=�<�$$������%�3�P !2�%��X�3����4���3=,�����%���3�!,����3$%!�/4+[ $=&

Y&1(�� �!2�$+<��� ��$ ��!�3 $=���+%���\3��*!�!�,�%�3"�2�$�2�����+%����34��3-�X��� ��/�!
! ��$ 3�����4��2� ���3 !�3=2&

����4+�/ � ��%����!X���������3�� ���23�3$ �� 3��!# ���3 !�3��/�!*!������3=�$ ����� ��!�
.�3$&1@07��������!�@Q1$+<��� !��a�@;1���=�3�����*!�!���?������/�!*!�%!�"3���3=�a��!$����3����� #

R� ��<+�*&���%��X�3-�*���36�-�$!-�������$ !�36�,�����������3�3�*���$��=�!<��$ /,�%���32��!#
�����=���R�3<�� 3�$�3������&��$��["��3�� ��X��$�����!���=���+-�P�!�!23"�$�3���$!�!��4�3 �-

��$%+<�3��a��� ��$ ����3���\�!� !$ ���,� $�2!S��23���63!���/��23��!� 3�*�� �23�� �%�!"�2,

!�3��%!����2!*+ �<� /����["����3���$!$ ���$!! �� $ ����!��������!�X$�!*!�3���2$�!*!������&
R!�$ � 3$ 3"�$�32�2� ��3���2���$$"3 ����=��$ ����� ��-�P�!�!23"�$�3-�-���� ��3$ 3���!��-

$+<��� !������+\+���$����3=�.��R,�$ !32!$ /�!$�!���-�?!��!�,�!<��2��!4�3"�!�� !�*!��3�3���&0
. �<�&1>�3�@0&�
�=�<!�/\3�$ ���$+<��� !�,����$"3 �=�$ !�36,�3-���4�3"3=�! �!$3 ��/�!������3�3,�" !

%!� ���X��� �3-�%�32���!��������P�!�!23"�$�3���!42!X�!$ 3&���%�32��,�%!��4� ��/�!,�" !���R

����+\+���$����3=�.�������@::@1*&0���<!�/\3�$ ���$+<��� !��$!$ ���=� �YU@:1 �$&1�+<&
����+� �! 2� 3 /��S��!��!���X�!��!<$ != ��/$ �!&��[<!��2�$$!�!��342����3����23�3$ �� 3�#

�!*!����!�3�!���3=���34<�X�!���4!�� �!$ �!��%�! 3�!$ !=�3����4�3"��-�%!�3 3"�$�3-�$3�&��!4#
�3��� �$%!��!�%�3�63%�-�!<���3���3=,�$+<��� ��$ ��+ �� =�+ /�!��=�!����$�<=�,�����4+�/ � ��<+�� 

$�!X�!�!%�����3 /�+$ ��3��[S3���$�-���3 ��33&���P !2�$2�$���%�3��������33� ��$!�!�����!�3�!#
���3=���$ �$ ����!���+��+%���3����*���36�-�<�$$���!��<+�� �!<��� 3���2,�$!�2�S�[S32�%�3�!�#

����3�!<S�$ ����!#3$ !�3"�$�3��4��!�!2���!$ 3,�3��� !�X�����2=�!�!������$� �$ !�/�4��"3 ��/�!�



;Q

¹
ï/ï

ûòêåúáóñåûâîÍ
ÿàðê–ÔÐ

ÔÐûòêåúáóñåèíæåðÏ ðòíåÖ
,üäàùîëÏ

ìê.ñûò 2

-íåëñè×
-àíüòñîí
,ÿèíåëåñ
.ëå÷íëì

àíÏÐÂ
-àíóøóä
,ÿèíåëåñ
.áóðíëì

1 éèêñéèòëàÁ-îâåöíåðàÁ -îãâîÍ,ÿàêñäàðãíèíåË:èòñàëáÎ
-íàìðóÌèÿàêñâîêñÏ,ÿàêñäîð

ÿèëåðàKàêèëáóïñåÐ,ÿàêñ

äîðîãâîÍ 8,315 4,3 3,41

2 ãðóáðåòåÏ-òêíàÑ.ã ãðóáðåòåÏ-òêíàÑ.ã ãðóáðåòåÏ-òêíàÑ 9,58 5,4 9,81

3 éèêñíèâÄ-îêñðî÷åÏ -îëîÂèÿàêñüëåãíàõðÀ:èòñàëáÎ
-åÍ,èìîKàêèëáóïñåÐ,ÿàêñäîã

ÎÀéèêöåí

êñüëåãíàõðÀ 9411 0,4 5,41

4 àâêñîÌ.ã àâêñîÌ.ã àâêñîÌ 7 5,8 0,24

5 éèêñéèòëàáèðÏ üòñàëáîÿàêñäàðãíèíèëàK äàðãíèíèëàK 1,51 9,0 1,9

6 éèêöåíîÄ-îêñâîðïåíÄ ,ÿàêñíÿðÁ,ÿàêñíåëîìÑ:èòñàëáÎ
ÿàêñäîðîãëåÁ,ÿàêñðóK

äîðîãëåÁ 6,141 4,5 1,11

7 éèêñæëîâåíõðåÂ ,ÿàêñâàëñîðß,ÿàêñðåâÒ:èòñàëáÎ
ÿàêñâîíàâÈ,ÿàêñìîðòñîK

üëâàëñîðß 4,202 0,5 2,11

8 éèêñêÎ ,ÿàêñæóëàK,ÿàêñâîêñîÌ:èòñàëáÎ
,ÿàêñíàçÿÐ,ÿàêñüëóÒ,ÿàêñâîëðÎ

ÿàêñðèìèäàëÂ

àëóÒ 9981 1,31 3,11

9 éîêñíîÄ ,ÿàêñâîáìàÒ,ÿàêöåïèË:èòñàëáÎ
ÿàêñâîòñîÐ,ÿàêñæåíîðîÂ

óíîÄ-àí-âîòñîÐ 6,112 3,9 1,01

01 éèêñìàK ,ÿàêñâîðèKèÿàêñìðåÏ:èòñàëáÎ
ÿèòðóìäÓ,ÎÀéèêöÿìðåÏ-èìîK

üìðåÏ 4,653 3,6 0,31

11 éèêñêÎ-îêñæëîÂ -áóïñåð,üòñàëáîÿàêñäîðîãåæèÍ
-ó×,ÿèâîäðîÌ,ëÝ-éèðàÌèêèë

ÿàêñøàâ

äîðîãâîÍéèíæèÍ 6,441 7,6 8,7

21 éèêñðàòàÒ íàòñðàòàÒàêèëáóïñåÐ üíàçàK 86 8,3 2,21

31 éèêñæëîâåíäåðÑ -âîíÿüëÓ,ÿàêñðàìàÑ:èòñàëáÎ
ÿàêñâîòàðàÑ,ÿàêñíåçíåÏ,ÿàêñ

àðàìàÑ 4,432 0,9 0,41

41 éèêñæëîâåíæèÍ ÿàêñíàõàðòñÀèÿàêñäàðãîãëîÂ
ÿèêûìëàK,èòñàëáî

äàðãîãëîÂ 1,432 0,4 1,9

51 éèêñíàáóK èêèëáóïñåð,éàðêéèêñðàäîíñàðK
ÿèñåêðå×-îâåà÷àðàKèÿåãûäÀ

ðàäîíñàðK 7,79 9,5 2,8

61 éèêñêåðåÒ -èëáóïñåð,éàðêéèêñüëîïîðâàòÑ
-åÑ,ÿàêñðàêëàÁ-îíèäðàáàKèê

,ÿàêñíå÷å×,ÿèòåñÎÿàíðåâ
íàòñåãàÄ,ÿèòåøóãíÈ

üëîïîðâàòÑ 3,651 4,7 4,5

71 éèêñðèêøàÁ íàòñîòðîêøàÁàêèëáóïñåÐ àôÓ 6,341 1,4 6,51

81 éèêñüëàðÓ -ãðóáíåðÎ,ÿàêñíèáÿëå×:èòñàëáÎ
ÿàêñíàãðóK,ÿàêñ

êñíèáÿëå× 9,282 9,6 6,9

91 éèêñáîîðåâåÑ -àëáîÿàêñíåìþÒèÿàêñâîëäðåâÑ
,ÎÀéèêñéèñíàÌ-ûòíàÕ,èòñ

ÎÀéèêöåíåÍ-îëàìß

ãðóáíèðåòàêÅ 4,3092 7,9 9,91

02 éèêñáîîíæÞ ,ÿàêñðèáèñîâîÍ,ÿàêñìÎ:èòñàëáÎ
-éàòëÀ,ÿàêñâîðåìåKèÿàêñìîÒ

éèêñ éàòëÀàêèëáóïñåÐ,éàðê

êñðèáèñîâîÍ 0,299 8,11 9,31

12 éèêñéåñèíÅ éèêñéèêíåâÝ,éàðêéèêñðÿîíñàðK
èêèëáóïñåð,ÎÀéèêñðûìéàÒ,ÎÀ

)àâóÒ(àâûÒèÿèñàêàÕ

êñðÿîíñàðK 8,1024 0,4 7,8

22 éèêñüëàêéàÁ àêèëáóïñåÐ,üòñàëáîÿàêñòóêðÈ
ÎÀéèêñíûäðÎ-üòñÓ,ÿèòÿðóÁ

êñòóêðÈ 6,1411 9,3 9,9

32 éèêñðóìÀ ,èòñàëáîÿàêñðóìÀèÿàêñíèòè×
éàðêéèêñâîðàáàÕ,ÎÀÿàêñéåðâÅ ,

ÎÀéèêñíèãÀ

êñâîðàáàÕ 8,8361 0,4 7,01

42 éèêñíàåêîîõèÒ èÿàêñíèëàõàÑ,éàðêéèêñðîìèðÏ
éèêñêÿðîK,èòñàëáîÿàêñòà÷ìàK

ÎÀ

êîòñîâèäàëÂ 8,6201 2,3 9,51

52 éèêñìûëîK-îíåË -àãàÌ,)ÿèòóêß(àõàÑàêèëáóïñåÐ
ÎÀéèêñòîêó×,üòñàëáîÿàêñíàä

êñòóêß 3,2034 3,1 4,13

� � < � 3 6 � � >
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¹
ï/ï

éàðK
îâ-ëîK
âîäîðîã

îâ-ëîK
âîíîéàð

üòñîìèîòÑ
õûíâîíñî
,âîäíîô
.áóðíëì

üäàùîëÏ
,èíøàï
àã.ñûò

üòñîíòîëÏ
,ãîðîäîòâà
ìê0001/ìê 2

éîí÷èíçîðìåúáÎ
óøóäàíèëâîãðîò
.áóð,ÿèíåëåñàí

1 éèêñéèòëàÁ-îâåöíåðàÁ 58 38 393665 6571 201 44001

2 ãðóáðåòåÏ-òêíàÑ.ã 434734 98331

3 éèêñíèâÄ-îêñðî÷åÏ 93 85 340464 2,1711 62 5,0728

4 àâêñîÌ.ã 9802221 8611 53495

5 éèêñéèòëàáèðÏ 22 31 75586 253 303 0739

6 éèêöåíîÄ-îêñâîðïåíÄ 05 101 235305 2,2876 791 7387

7 éèêñæëîâåíõðåÂ 36 101 114384 4962 5,941 7,2436

8 éèêñêÎ 651 151 7269601 5296 2,002 5,9467

9 éîêñíîÄ 45 611 849027 08811 161 6609

01 éèêñìàK 05 501 6,886 8575 7,67 78,56

11 éèêñêÎ-îêñæëîÂ 74 501 992925 4964 2,671 5,2165

21 éèêñðàòàÒ 02 34 242051 3943 281 6178

31 éèêñæëîâåíäåðÑ 64 411 5134301 58921 2,421 7,31201

41 éèêñæëîâåíæèÍ 82 75 416323 4576 6,45 6694

51 éèêñíàáóK 23 35 447914 9234 3,221 1574

61 éèêñêåðåÒ 05 101 479734 9305 5,591 9564

71 éèêñðèêøàÁ 12 45 707083 8334 151 5939

81 éèêñüëàðÓ 15 38 652985 35711 6,59 4046

91 éèêñáîîðåâåÑ 89 48 1689921 7,4992 9,51 5,88894

02 éèêñáîîíæÞ 85 751 6580801 83761 25 5,8937

12 éèêñéåñèíÅ 63 87 586824 1,6193 1,21 2245

22 éèêñüëàêéàÁ 82 06 878883 6003 44 1938

32 éèêñðóìÀ 82 67 105254 0632 7,72 8066

42 éèêñíàåêîîõèÒ 43 65 038213 6,977 5,61 2,0079

52 éèêñìûëîK-îíåË 81 94 750152 2,721 2,3 6,84201
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